SAP ABAP table /[SAPCEM/KLA ARB {Assignment Class -> Work Center}
_SAPCEM_V_CLAS

MANDT [CLNT (3)]

/SAPCEM/KLA ARB-KLASS = /SAPCEM/V_CLAS-CLASS _ o [KLART [CHAR (3)]
-7 CLASS [CHAR (18)]

- _SAPCEM_V_CRHD
- MANDT [CLNT (3)]

} /SAPCEM/KLA ARB-ARBPL = /SAPCEM/V_CRHD-ARB];:’I: 0N ARBPL [CHAR (8)]
- WERKS [CHAR (4)]

0.N  /SAPCEM/KLA ARB-MANDT = TOO0-MANDT T000
9N /SAPCEM/KLA ARB-WERKS = T001W-WERKS 0..N [MANDT [CLNT (3)]
T001W
/SAPCEM/KLA_ARB-KLART = TCLA-KLART "0..N [MANDT [CLNT (3]

o WERKS [CHAR (4)]

T ) TCLA

0..N [ MANDT [CLNT (3)]
KLART [CHAR (3)]




